EN.553.481/681 Numerical Analysis — Homework 4 Solutions

Problem 1. (a) Since «; := f; [1,.i(x — x;)/(x; — x;) dz, we have

b
g = ﬁ ’ (x —z1)(z — 29)(x — x3)(x — 24) dz
1 b
o = —W/a (x —zo)(x — x2)(x — x3)(x — x4) dx
1 b
ag = W/a (x —x0)(x —21)(x — 23)(x — 24) dz
1 b
ag = —3!?/& (x —x0)(x —21)(x — 22)(x — 24) dz
1 b
4= e ’ (x —x0)(x — x1)(x — 22)(x — 3) dx.
From Program 1.1 we find that
oy = 14h ay = 64h g = 8h s = 64h g = 14h

45 457 15’ 457 45

Recall that f(z) = Z?:o a; f(x;) + flzo, ..., x4, 7] H?ZO(:E — x;). Apply integration by parts, the mean value
theorem, and Program 1.1 again to write

b
E4(f):/ f[xo,...,x4,x]%w(m)dx
a b d
:—/ w(q;)gf[xo,...,u,x]dx
b
:7/ f[‘TO’...,SC47I’,SC}1U(I)dx

b
- 7f[$03"'7x47£a€]/ w(x)dx

4

:j(‘z!(é) /ab/OrH(x'xi)dx’dx

i=0
RGN -
= (x —x0) | | (z — 2;) dz
6! /a 0 11
_ 8 e
= o

It’s just algebra to see that assembling the collected «;, f(x;), and E4(f) fits the desired form.

(b) See Program 1.2.

(c) See Program 1.3 and its outputs Figure 1.1 and Figure 1.2 for the integral (i), and Program 1.4 and its
outputs Figure 1.3 and Figure 1.4 for the integral (ii). Note the results for the composite Simpson’s rule
are consistent with our expectations because its error is of order 4. By a similar argument to that of the
composite Simpson’s rule error, we expect the error of the composite Boole’s rule to be of order 6. We see
this is roughly the case, better observed for larger n.



Problem 2. (a) Write

= J! et —1
B t(etr 76t)
N 1—et
B t(etw _ et)
T oet—1
Ct(e —1)  t(1—€)
Toet—1 et —1

> t

:Z;Bj(x);!—t.

Note the series expansion for ¢ vanishes at the second and higher orders. Thus Bi(1 —z) =1 — By(x) and
B;(1 —z) = Bj(z) for j > 2.

(b) Write

= dx jl dx et —1
B t2etz B t2(etw _ 1) N t2
Cet—1 et—1 et —1
= [Bj(z) + Bl —;
j=1 I
) tj+1
= i+ 1)[B; ;
>+ DB+ 55
oo . "
=Y j[Bji(@)+ Bja]
i=2 '

For j > 2 this implies B}(x) = j[B;j_1(v) + Bj_1], as desired.

Problem 3. (a) From the Euler-MacLaurin formula,

1
L (f) ~ I(f) = 75 (F'(8) = ' (@)h* + O(h").
Combining this result with the asymptotic formula from the problem statement
1
LI ~ I(f) + 55 (F'(0) = F(@)h? + O(hY),

one can see that
20 (f) + Iy (f) ~ 3I(f) + O(h?).

The improved method I, (f) := 21} (f) + IT(f) thus has 4th-order rate of convergence. This is composite

n
Simpson’s rule with increments of size h/2, as one can see from the result for a single interval [a, b] with
a+b

midpoint ¢ = 37 where

_ 2

20F(@) + 3 217(@) + F0)] = S17(a) +47(0) + O] = L2 (7 (@) +47() + F(B)].



(b) Write composite trapezoidal with stepsize hy as

2k 1 2k—1_1
0) f(z)) +f (zj41) _ f(@2)) +2f (x2541) + fl22542)
7O (hy,) = Z hi =D M 5 :
7=0
and with stepsize hy_1 = 2hk as
o2k—1_1
TO (hy—y) = hi [f (225) + f(22542)],
3=0
so that combining them yields
1 i~
T (hy) = 3 [4T(O)(hk) - T(l)(hkq)} =3 Z hi [f (w25) + 4f (w2541) + f(22542)],
§=0
which is composite Simpson. We expand
2k to1 1 2k—2_
Z hi [f (w25) +4f (w2511) + f(22542)] = 3 > hi[f(za) + Af (2aj11) + 2f (Xaje2) + 4f (2aj48) + f(@a544)],
j=0
and write
1 2k—=2_1
T (hy_y) = 3 2hi [f(wa5) +4f(Taj42) + f(Ta544)]

so that combining yields

k—2
167D (hy) — T (R 2 %
T (hy,) = (i) T (hi-1) _ 5 2w [7f(wa5) + 32f (waj1) + 12f (zaj42) + 32f (vaj13) + Tf(waj14)],
7=0

which is composite Boole.
Problem 4. See Figure 4.1 for a plot of the integrand in (i) and Figure 4.2 for a plot of the integrand in (ii).

Running Program 4.1 for (i) evaluates the integral to about 0.9064 for both methods, with 513 function calls
in Romberg and 1797 in adaptive Simpson’s. Clearly, Romberg is much superior to adaptive Simpson. This
should be expected because the integrand is quite smooth, and Romberg works well to get highly accurate
integrals of smooth functions.

Running Program 4.2 for (ii) evaluates the integral to about 0.7632 for both methods, with 8193 function
calls in Romberg and 1405 in adaptive Simpson’s. In contrast to the first case, adaptive Simpson is now
greatly superior. The plot of the integrand shows a very sharp change right before x = 1 where derivatives
are very large. Adaptive methods handle this type of integrand more efficiently, by using a small h only near
the points z = 1, whereas Romberg with a uniform grid is forced to use a small h everywhere.

Problem 5.* First, we write

Hy(z) = f(a) + (z — a)f'(a) + (v — a)* fla, a,b] + (2 — a)*(z — b) f[a, a, b, D],

where



fla,b] — f'(a)

b—a ’

f'(a) = 2f[a,] + 1'(b)

fla,a,b] = E

f[a7 a7 b’ b] =

Thus

Hala) = fla) + sf'(a) 4 52 [ HOHO L Ly ooy [LALE PO 2O
= 1- 05+ W] fla)+ [22 Sl (23_ h)] F(0) + [s - (Sh; h)] flla)+ 2222 (‘22_ " o).

Some algebra will get us our desired form:

s2  2s%(s—h) A3 —3hs?+2s3

et = h3
s 2s%(s—h)  3hs? —2s3
B R b
2 s%(s—h) s[h?—2hs+ 5%
§——+ = .
h h? h?

Let a = xy and b = x4, then we’re done. For computing the integral, use the obvious substitution = — s
and write

Tr41 h
/ Hz(a:)dx:/ Hy(s+ x0)ds
Tl 0
ht — ht/2 h* — h* + ht/2 h*/4 — h*/3 h*/4 —2h*/3 + ht/2
= / Yk+1 + e / Ykt / B2 / Yky1 + / 2 Yr
h2

h
=5 Wen T o) — 35 (Y1 — ) -

Problem 6.* Using the result from class,

Pz(o; hkfg, . hk) _ thfl(O; hkuJrla ey hk) — 27eth,1(0; hk,g, ey hkfl)

h—2-¢h
2P (05 hge—ggrs - h) — P—1 (05 hi—e, - hi—1)
N 2t -1 ’

where Py(0; hy) = T (hy). We thus see that Py(0;hg_g, ..., hi) and T®(hy) satisfy identical recursion
relations in ¢ and, furthermore, have identical starting values for ¢ = 0. Thus we conclude that

Py(0; hi—g, .., hy) = TO (hy)

This result gives a simple interpretation of the Romberg approximation 7 (h,) as the result of using the
polynomial interpolant on the data (ho, T (hg)), ..., (he, T®) (hy)) to extrapolate to h = 0.



MATLAB Plots

(i) Error in Composite Simpson and Linear Fit with Slope= -4.0144
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Figure 1.1. Error in composite Simpson and linear fit for integral in (i).

(i) Error in Composite Boole and Linear Fit with Slope= -6.0047
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Figure 1.2. Error in composite Boole and linear fit for integral in (i).



0 (i) Error in Composite Simpson and Linear Fit with Slope= -3.9992
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Figure 1.3. Error in composite Simpson and linear fit for integral in (ii).

(i) Error in Composite Boole and Linear Fit with Slope= -7.4951
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Figure 1.4. Error in composite Boole and linear fit for integral in (ii).
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(i) flz) = exp(—z”)
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Figure 4.1. Plot of integrand exp(—z*) in (i).
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1 (i) f(z) = exp(—z*/(1 — 2*))sign(1 — |z|)
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Figure 4.2. Plot of integrand exp(—z*/(1 — z%))sign(1 — |z|) in (ii).
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MATLAB Code

Program 1.1. Symbolic integration for «; and f:(a: — x0)? Hle(m — 2;)dx in Problem 1(a), with the
transformation = + (x — a)/h. Note this substitution throws a factor of h® and A7 in front respectively,
which we omit.

syms Xx

alp(1)=int ((x-1)*(x-2)*(x-3)*(x-4),0,4)/factorial (4);
alp(2)=-int (x*(x-2)*(x-3)*(x-4),0,4)/factorial (3);
alp(3)=int (x*x(x-1)*(x-3)*(x-4) ,0,4)/factorial (2)"2;
alp(4)=-int (x*(x-1)*(x-2)*(x-4),0,4)/factorial (3);
alp(B)=int (x*(x-1)*(x-2)*(x-3),0,4)/factorial (4)

bet=int (x"2*%(x-1)*(x-2)*(x-3)*(x-4),0,4)/factorial (6)

Program 1.2. Implementation of boolc.m.

function I=boolc(f,a,b,n)

if mod(n,4)~=0
’n not a multiple of 4 in Boole’
return

end

h=(b-a)/n;

x1l=a+h:4*h:b-3%h;

x2=a+2*xh:4*%xh:b-2%h;

x3=a+3*h:4xh:b-h;

x4=a+4*xh:4*xh:b-4%*h;
I=7x(f(a)+f(b))+32*x(sum(f (x1))+sum(f (x3)))+12*sum (f(x2))+14*sum(f(x4));
I=2%h*I1/45.;

end

Program 1.3. Comparisons of log-log-error for Simpson’s and Boole’s methods for integral (i).

f=0(x) sin(pi*x."2/2); a=0; b=1;
It=fresnels (1);

for ii=1:6
n=4%2"1ii;
nn(ii)=n;
simp(ii)=simpc(f,a,b,n);
bool (ii)=boolc(f,a,b,n);
end

Is=simp (6)
Ib=bool (6)

errs=abs (simp-It); errb=abs(bool-It);
figure; Ps=polyfit(log(nn),log(errs),1);

ords=-Ps (1)
loglog(nn,errs,’-b’,nn,exp(Ps(1)*xlog(nn)+Ps(2)),’--r’)
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legend (’error’,’fit’)
xlabel(’n’); ylabel(’err’)
title ([’ (i) Error in Composite Simpson and Linear Fit with Slope= -’ ,num2str (ords)]

figure; Pb=polyfit(log(nn),log(errb),1);
ordb=-Pb (1)

loglog(nn,errb,’-b’,nn,exp(Pb(1)*log(nn)+Pb(2)),’--r’)

legend (’error’,’fit’)

xlabel(’n’); ylabel(’err’)

title([’(i) Error in Composite Boole and Linear Fit with Slope= -’,num2str (ordb)])

Program 1.4. Comparisons of log-log-error for Simpson’s and Boole’s methods for integral (ii).

f=0(x) 1./(1+x.72).°(3/2); a=-4; b=4;
It=2%b/sqrt (1+b"2);

for ii=1:8
n=4x2"1ii;
nn(ii)=n;
simp (ii)=simpc(f,a,b,n);
bool (ii)=boolc(f,a,b,n);
end

Is=simp (8)
Ib=bool (8)

errs=abs (simp-It); errb=abs(bool-It);

figure; Ps=polyfit(log(nn(5:8)),log(errs(5:8)),1);
ords=-Ps (1)

loglog(nn,errs,’-b’,nn,exp(Ps(1)*log(nn)+Ps(2)),’--r’)

legend (’error’,’fit’)

xlabel(’n’); ylabel(’err’)

title ([’ (ii) Error in Composite Simpson and Linear Fit with Slope= -’,num2str (ords)]

figure; Pb=polyfit(log(nn(4:8)),log(errb(4:8)),1);
ordb=-Pb (1)

loglog(nn,errb,’-b’,nn,exp(Pb(1)*log(nn)+Pb(2)),’--r’)

legend (’error’,’fit’)

xlabel(’n’); ylabel(’err’)

title([’(ii) Error in Composite Boole and Linear Fit with Slope= -’,num2str(ordb)])

Program 4.1. Romberg integration versus adaptive extrapolated Simpson’s rule for (i).

f=0(x) exp(-x."4);

figure; fplot(f,[0 2])

xlabel (’$x$’,’FontSize’,15, ’ Interpreter’,’latex’);

ylabel (*$£f(x)$’,’FontSize’ ,15,  Interpreter’,’latex’)

title(’ (i) $f(x)=\exp(-x~"4)$’,’FontSize’,18,’ Interpreter’,’latex’)

[IR,fcountR]=romberg(f,0,2,1e-14)

[IQ,fcountQ]l=quad(f,0,2,1e-14)

~
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Program 4.2. Romberg integration versus adaptive extrapolated Simpson’s rule for (ii).

figure; fplot(@myfun,[0 2])

xlabel(’x’,’FontSize’ ,15,’ Interpreter’,’latex’);

ylabel(’f(x)’,’FontSize’,15,’ Interpreter’,’latex’)

title(’ (ii) $f(x)=\exp(-x~4/(1-x"4)){\rm sign}(1-Ix1)$’,
’FontSize’,18,’ Interpreter’,’latex’)

[IR,fcountR]=romberg(@myfun,0,2,1e-14)
[IQ,fcountQ]l=quad(@myfun,0,2,1e-14)

Program 4.3. Function needed for program 4.2.

function y=myfun(x)

n=length(x);

y=zeros (size(x));

for i=1:n

if abs(x(i))<1
y(i)=exp(-x(i)"4/(1-x(i)"4));

else
y(1)=0;

end

end
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